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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Level-1 Posts CEN-02/2018

[Participant ID: 162039079070086

Participants Name:|[CHANDAN KUMAR KULHARI

Test Center Name: [iON Digital Zone iDZ 2 Patia
Test Date: 03/10/2018

Test Time: 4:00 PM - 5:30 PM

Subject: Level 1

1. Options shown in green color with a tick icon are correct

Techofworld.In

2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Ans 3 1. Foreign currency
+ 2. Government securities
/< 3. Fixed property
/< 4 Bullions

Q1 Open market operations refers to the sale and purchase of by the RBI.

Question ID : 6789131898
Option 11D : 6789137589
Option 2 ID : 6789137591
Option 31D : 6789137592
Option 4 ID : 6789137590
Status : Not Answered
Chosen Option : --

along the same straight path. Find his average speed.

Ans X 1. 3.0ms™?
v 2 347ms?
K3 25ms?
X4 2ms?

Q.2 Ram swims in a 104 m long pool. He covers 208 m in one minute by swimming from one end to the other and back

Question ID : 6789131856
Option 11D : 6789137424
Option 2 ID : 6789137422
Option 3 ID : 6789137421
Option 4 ID : 6789137423
Status : Not Attempted and Marked For Review
Chosen Option : --

Q3 Which of the following compounds is less reactive?




Ans x 1. Ethyne
/< 2. Propene

/< 3. Ethene
« 4 Propane

Question ID : 6789131873
Option 1 ID : 6789137490
Option 2 ID : 6789137492
Option 31D : 6789137489
e C O WO r n Option 4 ID : 6789137491
" Status : Not Attempted and Marked For Review
Chosen Option : --

Q.4 The following pie diagram shows information on the sales of different types of food items by restaurant XYZ.

Chinese
other baked
items & burger
Sandwich w
pizza

donuts

The total revenue made by the restaurant in NOWV 2017 was Z 35 lakhs.
What type of food items offered has given least revenue to the restaurant XYZ?

Ans 1. Sandwich
« 2. Chinese food items

/< 3. Burgers

/< 4. Donuts

Question ID : 6789131842
Option 11D : 6789137367
Option 2 ID : 6789137368
Option 31D : 6789137365
Option 4 ID : 6789137366
Status : Answered
Chosen Option : 2

Q.5 Read the given statement(s) and conclusions carefully and select which of the conclusions logically follow(s) from the
statement(s).

Statement:
1. Some albums are photos.
2. All the photos are frames.
Conclusions:

1. Some albums are frames

2. No photos is albums

Ans % 1. Both (1) and (2) follows
+ 2 Only (1) follows
/< 3. Only (2) follows
/< 4. Either (1) or (2) follows

Question ID : 6789131831
Option 1 ID : 6789137324
Option 2 ID : 6789137321




Option 31D : 6789137322
Option 4 ID : 6789137323
Status : Answered

Chosen Option: 2

Ans  of 1. Heinrich Rudolf Hertz
< 2. Albert Einstein
/< 3. Michael Faraday

/< 4. Joseph John Thomson

Q.6 Who laid the foundation for the future development of radio, telephone, telegraph and even television?

Techofworld.In

Question ID : 6789131863
Option 11D : 6789137452
Option 2 ID : 6789137449
Option 3 ID : 6789137450
Option 4 ID : 6789137451
Status : Answered

Chosen Option: 1

Ans - X 1. Mumbai
v 2 Goa
& 3. Delhi
/< 4 Hyderabad

a7 Where was the 48" International Film Festival of India held in 20172

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131884
6789137533
6789137535
6789137534
6789137536
Not Attempted and Marked For Review

Q8 YWhich is the state animal of Andhra Pradesh?
Ans X 1. Mithun

< 2. One-horned rhinoceros

X3 Ox

v 4 Blackbuck

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131897
6789137585
6789137587
6789137586
6789137588
Not Attempted and Marked For Review

Q.9




674858848325867838
Using the above sequence find the number that does not belong to the group.
688, 426, 542, 268

Ans X' 1. 688
X 2 426
v 3 268
X 4 542

Question ID : 6789131838
Option 1 ID : 6789137349
Option 2 ID : 6789137350
Option 31D : 6789137352
e C O WO r - n Option 41D : 6789137351
Status : Not Attempted and Marked For Review
Chosen Option : --

&1 Which of the following will give a terminating decimal?

Ans x1~ i

72

12
25—
X2 =

v
?{'4.i

Question ID : 6789131801
Option 11D : 6789137202
Option 2 ID : 6789137204
Option 31D : 6789137203
Option 4 ID : 6789137201
Status : Answered
Chosen Option : 2

@1 Ampere is the SI unit of :

Ans < 1. resistance
/< 2. electric charge
X 3. potential difference

' 4 electric current

Question ID : 6789131865
Option 11D : 6789137460
Option 2 ID : 6789137458
Option 3 ID : 6789137457
Option 4 ID : 6789137459
Status : Answered
Chosen Option : 4

Q.1 A porter lifts a luggage of 11 kg from the ground and puts it on his head 1.5 m above the ground. Calculate the work
2

done by him on the luggage. (g :lOms'z)




Ans of 11657

Ans 1. Iltutmish

X 21557
X3 100N
X 41507
Question ID : 6789131861
Option 11D : 6789137443
Option 2 ID : 6789137441
e C O WO r l l Option 3 1D : 6789137444
" Option 4 ID : 6789137442
Status : Answered
Chosen Option : 1
Q.1 Select the term that relates to the third term in the same way that the second term relates to the first term.
3 India: Rupee :: UK : ?
Ans - X 1. Yen
& 2. Dinar
X 3 Lira
v 4 Pound
Question ID : 6789131826
Option 11D : 6789137302
Option 2 ID : 6789137303
Option 31D : 6789137304
Option 4 1D : 6789137301
Status : Answered
Chosen Option : 4
Q.1 Raghu drawn five different curves, out of the five figures marked (a), (b). (¢), (d) and (e), four are similar in a certain
4 manner. However one figure is not like the other four. Choose the figure which is different from the rest.
' T ()
a b € d e
Ans 1. g
2. a
3. d
4 h
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6789131853
Option 11D : 6789137409
Option 2 ID : 6789137410
Option 31D : 6789137412
Option 4 ID : 6789137411
Status : Answered
Chosen Option : 1
Q; . the Sultan of Delhi shifted his capital from Delhi to Daulatabad.




« 2 Muhammad-bin-Tughlaq
X 3. Akbar
/< 4. Ghiyas-ud-din Balban

Question ID : 6789131894
Option 1 ID : 6789137575
Option 2 ID : 6789137574
Option 31D : 6789137573
Option 4 ID : 6789137576
Status : Answered
Chosen Option : 1

°é1 consists of relatively unspecialised cells with thin cell walls.

Ans 1. Scerenchyma
« 2. Parenchyma

/< 3. Tracheids
/< 4. Collenchyma

Question ID : 6789131877
Option 11D : 6789137505
Option 2 ID : 6789137507
Option 31D : 6789137508
Option 4 ID : 6789137506
Status : Not Attempted and Marked For Review
Chosen Option : --

%1 Who is the Chief Minister of Punjab as of 1% March 2018?
Ans o 1. Captain Amarinder Singh
/< 2. Parkash Singh Badal

/< 3. Naveen Mahindra
/< 4 Navjot Singh Sidhu

Question ID : 6789131890
Option 1 ID : 6789137557
Option 2 ID : 6789137560
Option 31D : 6789137558
Option 4 ID : 6789137559
Status : Answered
Chosen Option: 1

Q.1 Who among the following inaugurated the Dr. A.P.J. Abdul Kalam Memorial in Rameswaram?
8

Ans o 1. Q. Parmeerselvam
< 2. Narendra Modi
# 3. K. Palaniswami
/< 4. Pranab Mukherjee




Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131891
6789137562
6789137563
6789137564
6789137561
Not Attempted and Marked For Review

Ans X 1. GSHT
X 2. GRHS
X 3. GWHX
v+ GTHS

&' Find the missing information
AZBY, CXDW, EVFU.

Question ID : 6789131839
Option 11D : 6789137353
Option 2 ID : 6789137356
Option 3 ID : 6789137355
Option 4 ID : 6789137354
Status : Answered

Chosen Option : 4

Q.2

ot
{op

D] E

dob| ?

dep|| {2k |[deh

{=¢

A B c
Ans x1~ D
v 2B
X3 A
X4cC

D

From the below options, choose the correct picture that fits the blank space in the above figure.

Question ID : 6789131848
Option 11D : 6789137392
Option 2 ID : 6789137390
Option 31D : 6789137389
Option 4 ID : 6789137391
Status : Answered

Chosen Option : 2

€865 &7l @GRl |
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Ans  of 1. F 450,75
X2 F 448
< 3. F 459,50
X 4 F 460.70

Question ID : 6789131803
Option 11D : 6789137211
Option 2 ID : 6789137209
Option 31D : 6789137212
Option 4 ID : 6789137210
Status : Answered

Chosen Option : 1

% Bglen GuI IRl CreRe @ AEY Ade 99 ;

Ans x1~ 3
X216
V3 12
Xa a4

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131850
6789137400
6789137397
6789137398
6789137399
Not Attempted and Marked For Review

Y Gohge crg caeee Yee(ghe) Ia?
Ans o 1 I6RIEAIERARA AIEIR
X 2 6RgQ TIEIR

v 2 CHETeRYR

X 4 erI@im 65y

Question ID : 6789131864
Option 1 ID : 6789137455
Option 2 ID : 6789137454
Option 31D : 6789137456
Option 4 ID : 6789137453
Status : Answered

Chosen Option : 3




Q.2 An element with electronic configuration 2.8,8.2 is placed in period in the Modern periodic table.
4
Ans « 1. 4
X 23
X312
X 410
Question ID : 6789131875
Option 11D : 6789137500
Option 2 ID : 6789137499
Option 31D : 6789137497
Option 4 ID : 6789137498
Status : Answered
Chosen Option: 1
@2 Find the odd one out from among the given figures.
A B B D
Ans X 1. D
X2 B
v cC
X4 A
Question ID : 6789131847
Option 11D : 6789137388
Option 2 ID : 6789137386
Option 31D : 6789137387
Option 4 ID : 6789137385
Status : Answered
Chosen Option : 3
Q27 8:27.64; o 200
6 J 2 . F, r, J
The missing term in the number series is:
Ans X 1. 120
< 2 180
X 3128
v 4 125
Question ID : 6789131836
Option 11D : 6789137342
Option 2 ID : 6789137344
Option 3 ID : 6789137343
Option 4 ID : 6789137341
Status : Answered
Chosen Option : 4

Q.2 A certain household has consumed 100 units in 5 days. How much energy is this when converted to joules?

7




Ans X1 360x 1087
X2 360x1087
X3 36x1087
v 4 36x1087

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6789131862
6789137445
6789137446
6789137448
6789137447
Not Attempted and Marked For Review

/< 3. Blood is red vascular connective tissue.

/< 4 Life span of human RBCs is 115-120 days.

oéz Choose the option that is NOT true about vascular system.
Ans o 1. It forms about 1.7-1.8% of the body weight.
/< 2. There is about 6.8 liters of blood in an adult person

Question ID : 6789131878
Option 11D : 6789137510
Option 2 ID : 6789137511
Option 3 ID : 6789137509
Option 4 ID : 6789137512
Status : Answered

Chosen Option : 1

Ans X 1. Sri Sri Ravishankar
' 2. T. M. Krishna

# 3. A.P.J. Abdul Kalam
/< 4 Manmohan Singh

Q.2 Who was conferred with the 30th Indira Gandhi Award for National Integration for 2015 -16?
9

Question ID : 6789131889
Option 11D : 6789137553
Option 2 ID : 6789137555
Option 31D : 6789137554
Option 4 ID : 6789137556
Status : Not Answered

Chosen Option : --

% 156+ [47 + {105+ (25— 120+ 6% 5)}] =
Ans X 17
X25
<31
v 3




Question ID : 6789131807
Option 11D : 6789137228
Option 2 1D : 6789137227
Option 31D : 6789137225
Option 41D : 6789137226
Status : Answered
Chosen Option : 4

% grie0 aedla Yeele AIee SIKIR A 6RE0d QIR Y6 986 aHEe?
Ans x 1. ¢
X 2 ﬂ@fﬂf@‘ﬂ?f Qe I

v 3. caee ¢l
X 4 g@dl

Question ID : 6789131827
Option 1 ID : 6789137307
Option 2 ID : 6789137308
Option 31D : 6789137306
Option 4 ID : 6789137305
Status : Answered
Chosen Option: 3

@3 Which of the following statements is/are true?
A. Solid CO; is known as dry ice.

B. Solid carbon dioxide gets converted directly to liquid state.
C. Solid CO5 gets converted directly to gaseous state.

Ans 2 1. All are false
< 2. A and C are false, B is true

« 3. A and C are true, B is false
X< 4 All are true

Question ID : 6789131869
Option 11D : 6789137476
Option 2 ID : 6789137474
Option 31D : 6789137473
Option 4 ID : 6789137475
Status : Answered
Chosen Option : 3

Q.3 Read the given statement(s) and conclusions carefully and select which of the conclusions logically follow(s) from the
3 statement(s).

Statements:
1. All boys are singers.

II. Some singers are trained.

Conclusions:
1. All singers are boys.

2 Some boys are trained.




Ans  of 1. Neither 1 nor 2 follows.
/< 2. Conclusion 2 alone follows.

/< 3. Conclusion 1 alone follows.
/< 4 Both 1 and 2 follows.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

6789131829
6789137316
6789137315
6789137313
6789137314

Status : Answered
Chosen Option : 1

Qf The sum of the interior angles of a regular octagon is:

Ans X" 1. 720
v 2 1080
< 3900
X 4 540
Question ID : 6789131825
Option 11D : 6789137299
Option 2 ID : 6789137297
Option 31D : 6789137298
Option 4 ID : 6789137300
Status : Answered
Chosen Option : 1

Ans

X144
V2 22
X311
X 4 33

Q3 711 ZIgIEest 851 AaIg QI QRGN | 6LIEPEPER JEE eyl 6 eQlel FRIGIR, ?JQE]I'G‘@ 5:7 6dal | 9= gl
AR PR PHYIG 6R6G?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

6789131811
6789137241
6789137243
6789137244
6789137242
Answered

Chosen Option : 2

Q.3 oosraen aIdiegas 69154 Q199 2 Q9I6R 18 eRgeg 94 *B0IER | 926 A9IER 1R AFIRIR MRTIRArd RIF @),

6 Gota a9isn 610 AEIR IRFRAIPS, GUla IHEE BB dlHId BCBIR 98 SFIE, 95 GUSR BIR AlIs BAeIR
1Q0gdIP8 1e” C%F IR BIR IRUIEe BCIeIR IegRTl s SId anl | 6615 F916 Q19T Tl ARG SISl SN, G
9% 696l6R 94 Q19! FI9 802ER FRgag 4 awsa gd ffofalel | 1 TE0E 6eFER CIRQ U FIFTIZET! IR 697
<SS AFS, iR gl aRg9Ua 28 5 aalea gd seiealfie, 65 TIRa 9g RIAeteR @Iy @ggem | gd cengel aRgay
WH 2091 €97 AIRDY €966 498 AR 98 216y 1T €98 AFIKER FIF KRRS 7

Ans of 1 24
X 2 30
<320




X 4 32

Question ID : 6789131819
Option 11D : 6789137274
Option 2 ID : 6789137275
Option 31D : 6789137273
Option 41D : 6789137276
Status : Not Attempted and Marked For Review
Chosen Option : --
Qs (5sin 8+3cosd)
7 If4cot@ = b, then find the value of —M—
(5sin -2 cosF)
Ans J 1. %
X2 4
X309
X4 3
Question ID : 6789131824
Option 11D : 6789137295
Option 2 ID : 6789137293
Option 3 ID : 6789137296
Option 4 ID : 6789137294
Status : Not Attempted and Marked For Review
Chosen Option : --
Q.3 =9
s 0kgSp=1
Ans X 1. 0.65 kg
X 2 6.05kg
v 3 6.005kg
X4 6.5kg

Question ID : 6789131804
Option 11D : 6789137216
Option 2 ID : 6789137214
Option 31D : 6789137215
Option 4 ID : 6789137213
Status : Answered

Chosen Option: 3

Ans X 1. Jyoti More

/< 2. Bindu Bhosle
+ 3 Dipa Karmakar

/< 4 Aruna Reddy

Q.3 Who among the following is the first Indian female gymnast ever to compete in the Olympics?
9

Question ID : 6789131882
Option 1 ID : 6789137528
Option 2 ID : 6789137526




Option 31D : 6789137527
Option 4 ID : 6789137525
Status : Answered
Chosen Option : 3

Q64 Who among the following was conferred with sainthood by Pope Francis in 20167

Ans X 1. Mary Euphrasia
< 2. Kuriakose
+ 3. Mother Teresa
/< 4. Sister Alphonsa

Question ID : 6789131887
Option 1 ID : 6789137547
Option 2 ID : 6789137546
Option 3 ID : 6789137545
Option 4 ID : 6789137548
Status : Not Answered
Chosen Option : --

Q.4
1 Ifa + = =5, then a® +i3=?
[l [

Ans X 1,120
X 2140
W 3 110
X 4130

Question ID : 6789131822
Option 11D : 6789137286
Option 2 ID : 6789137287
Option 31D : 6789137288
Option 4 ID : 6789137285
Status : Answered
Chosen Option: 3

°2-4 At 5.25% simple interest per annum ¥ 3250 will earn how much interest in 8 years?

Ans o 1. T 1,365
X2 T1,465
X 3 T1.395
X 4 T 1,425

Question ID : 6789131809
Option 1 ID : 6789137234
Option 2 ID : 6789137236
Option 31D : 6789137235
Option 4 ID : 6789137233
Status : Answered
Chosen Option : 1

Q.4




3 Find the odd one out from among the given figures.

O | A%

A B c D
Ans x-]_ A

X2B

K3 D

vic

Question ID : 6789131844
Option 11D : 6789137373
Option 2 ID : 6789137374
Option 31D : 6789137376
Option 4 ID : 6789137375
Status : Answered

Chosen Option : 4

Ans X' 1. 1873
< 2 1874
v 31872
X 41871

°44 Mendeleev’s periodic table was published in a German journal in

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

: 6789131874
: 6789137495
: 6789137496
Option 31D :

6789137494

: 6789137493
: Not Attempted and Marked For Review
Chosen Option :

% Be1eede ¢ feen YYPIn YR CE9E
Ans x 1. ms

v 2 ms?

X 3 ms?

X 4 ms?

Question ID : 6789131857
Option 1 ID : 6789137428
Option 2 ID : 6789137426
Option 3 ID : 6789137425
Option 4 ID : 6789137427
Status : Answered

Chosen Option: 2

% Goieg cael dg et odm ?

Ans




X qel

X 2 Glgy ey
X3 Qid
v i GiR
Question ID : 6789131899
Option 11D : 6789137593
Option 2 ID : 6789137596
Option 31D : 6789137595
Option 4 ID : 6789137594
Status : Not Attempted and Marked For Review
Chosen Option : --
Q.4 Mathura Refinery is the only oil refinery in Uttar Pradesh, and is the in the series of Indian Oil Refineries in the
7 country.
Ans X 1. 7th
( 2. gth
x 3. g.th
X 4 gth

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

6789131893
6789137569
6789137571
6789137572
6789137570
Not Answered

8

Ans 1. Robert Boyle

' 2. Albert Einstein
/< 3. Jacques Charles

/< 4 Joseph Proust

Q.4 Which of the following scientists showed that matter can be transformed into energy and energy into matter?

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option :

: 6789131867
: 6789137466
: 6789137467
: 6789137465
: 6789137468
: Not Attempted and Marked For Review

Ans 1. Saturday
' 2 Tuesday
/< 3. Monday

%* What day would it be on 315 March 2020?




/< 4 Sunday

Question ID : 6789131817
Option 11D : 6789137267
Option 2 ID : 6789137268
Option 31D : 6789137266
Option 4 ID : 6789137265
Status : Answered
Chosen Option : 2
@5 Find the fourth proportional of 3, 4 and 9.
Ans X 1. 16
X211
X3 10
v 12
Question ID : 6789131810
Option 1 ID : 6789137239
Option 2 ID : 6789137237
Option 31D : 6789137240
Option 4 ID : 6789137238
Status : Answered
Chosen Option : 4
°1~5 Felgiagel g9 598 Gaea ool 9ea Fgen 2a8aide 28 | 69 56T 6aet cSIE YI9Ia @ag ?
9998
lolakaial
AR
A B D
Ans of 1A
X2D
X3 C
X 4B
Question ID : 6789131846
Option 11D : 6789137381
Option 2 ID : 6789137384
Option 31D : 6789137383
Option 4 ID : 6789137382
Status : Answered
Chosen Option : 4

Q.5




66N G396 g 21990d @8 gat g8 FIKIRE | 9010 /a3 6ae gE §98ig 98ga @R |
G998 : @4 elad afITen CerIn IaRl Jin @08sIg & IeAIe FIU9d RIER 6ael 958 ?
s

1 ¢, 909 adolale 94060a 6aldd @AIE dee SIPeR SR QG |

2. @l 21 QIS 98° IBAIBeIq 6] 699 |

A o1 609R 8 2 96 260
X 2 6997 g 1 9@ 26T
X 3 9ug g8 1 @9 g8 2 cxlde 9@ gee
X 4 g8 16 g8 2 9¢ e

Question ID : 6789131834
Option 11D : 6789137334
Option 2 ID : 6789137333
Option 31D : 6789137336
Option 4 ID : 6789137335
Status : Answered
Chosen Option : 1

Q.5 ziggq calE od 6 9ot deis GRlaes] Gg6a GaIdIRgs Raeig §910 903 6 80 @03 60 18 FaigFe FrIg
caue/gFa 9% 088

Q@I
alag GFRINIRIN Tgy Siey e 2gagl
eqgde:
L 4 99 edeaeee Gadel 95 @ael Jis F88 auIaiad]

I QL egeieg GRIae ealghel caimana|
X168 1891 61eaE 9@ ges |
v 2 6090 69 [ 99 0F8 |

X 3 e9ed 0@ 199° I1 9@ 058 |

X 4 6aen 6@ II 97 9F8 |

Question ID : 6789131835
Option 11D : 6789137339
Option 2 ID : 6789137340
Option 3 ID : 6789137337
Option 4 ID : 6789137338
Status : Answered
Chosen Option : 2

as ollg 89 2F0Iae0 €29l g6ee aa9lg Y9ge eglnal|

Ans x-l_ C]._’g
X 2 Hy
Vi3 Ny




K4 O

Question ID :

Option 1 ID
Option 21D :
Option 31D :
Option 4 ID

Status :

6789131870

1 6789137480

6789137479
6789137477

1 6789137478

Answered

Chosen Option : 1

%° Find the value of 0.9

Ans

v 10948
X 2 0.894
X 3 0.958
X 4 0.598

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131806
6789137221
6789137223
6789137222
6789137224

Not Attempted and Marked For Review

Q.5 9o 667 9= 784 69950 199 O 68U AIGI @9F | 2 08 96, BIFY 17 SEReaT ea9RR Bina 98 1e° A9
GeIeq 7086nFica/adl OF evoien QIgl @RR 99° 5 99l T80 Q2IFl 6547 899 | 92IF 65R0 AerIfica/agien 696l @l

266?
Ans X 1. 40
X2 45
v 3 50
X 4 55
Question ID : 6789131814
Option 11D : 6789137253
Option 2 ID : 6789137255
Option 3 ID : 6789137254
Option 4 1D : 6789137256
Status : Answered
Chosen Option: 3
as is the new capital of Andhra Pradesh.
Ans X 1. Tirupati
« 2 Amaravati
/< 3. Secunderabad
/< 4 Hyderabad
Question ID : 6789131896
Option 11D : 6789137584
Option 2 ID : 6789137582
Option 3 ID : 6789137583




Option 4 ID : 6789137581
Status : Answered
Chosen Option : 3

°é5 Ohm’s law states the relation between

and

Ans 1. electric current, electric charge
/< 2. potential difference. electric charge
« 3. potential difference, electric current

/< 4. electric charge, time

Question ID : 6789131866
Option 11D : 6789137461
Option 2 ID : 6789137463
Option 31D : 6789137462
Option 4 ID : 6789137464
Status : Answered
Chosen Option: 3
°é5 31 xX23=713,then 310X 0.023 = ?
Ans X 1. 71.3
V2 713
X 30713
X 4 0.0713
Question ID : 6789131802
Option 1 ID : 6789137205
Option 2 ID : 6789137207
Option 31D : 6789137206
Option 4 ID : 6789137208
Status : Answered
Chosen Option : 2
Q.6 On 21 February 2018, India successfully conducted a night trial of its indigenously developed nuclear capable Prithvi-IT
0 missile from a test range in:
Ans X 1. Karnataka
/< 2. Tamil Nadu
/< 3. Rajasthan
« 4 Odisha
Question ID : 6789131900
Option 11D : 6789137600
Option 2 ID : 6789137599
Option 31D : 6789137598
Option 4 ID : 6789137597
Status : Answered

Chosen Option : 4

Ans

°1~6 If BASKET is written as ABKSTE. How is ACTIVE written in that code?




< 1. ACVET
X 2 ITCUA
X 3. CAEVTU
v 4 CAITEV

Question ID : 6789131828
Option 11D : 6789137310
Option 2 ID : 6789137312
Option 31D : 6789137309
Option 41D : 6789137311
Status : Answered

Chosen Option : 4

Q¢ The vagina leads to
Ans X 1. Fallopian tube
v 2. Cervix
X 3. Oviducts
X 4 Uterus

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

6789131879
6789137516
6789137515
6789137513
6789137514
Not Attempted and Marked For Review

3 dimensions of the cuboid?

Ans  of 1. 20cm X 30cm X 50cm
< 2 30cm % 40cm % 50cm
X 3 20em % 30cm X 40cm
< 4 20em x 40cm X 50cm

Q.6 The dimensions of a rectangular box are in the ratio 2 : 3 : 5. Ifits total surface area is 6200 sq.cm., then find the

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 6789131820
: 6789137278
: 6789137280
: 6789137277
: 6789137279
: Not Attempted and Marked For Review
Chosen Option :

4 Academy| 2012 | 2013 | 2014
A 2 3 4
B 1 5 2
C 3 7 9

How many athletes from academy ‘B’ passed the district level selection in the three years?

Ans ?(1 3
X221

Q.6 The following chart shows the results of three athletic academies in the district level selections for three years.




v 38
X4 2

Question ID : 6789131840
Option 11D : 6789137359
Option 2 ID : 6789137357
Option 31D : 6789137358
Option 4 ID : 6789137360
Status : Answered
Chosen Option: 3

056 Find the Odd one out:

B8 | K& | €3 | LL

A B (& D
Ans x1_ C
X2 A
X3 B
v 4D

Question ID : 6789131845
Option 1 ID : 6789137379
Option 2 ID : 6789137377
Option 31D : 6789137378
Option 4 ID : 6789137380
Status : Answered
Chosen Option : 4

Q.6 Ggen Goi aisgel 98 9871 980 ToI0 993 6w6 HI0al 998 92 A8EEE 0FF |
6

98 . eldueaen FIEAIRITE 068 CalIth Gm DI QIR QIR RFSIS] FINE FHIER AANGEEs] § FRIa aslale 9B |
FIBIE QIIUIRHER P Y FRE 26T |

IRl
L £R9R SIEAIFIFS 08B adelale Auen dAagedel 98 @0 aidie aiF |

I @Idi6Eees FEGe S0I0 draIgeEe 1e° g5rel 9FIE 98RIeR e Jgs ge 88 |

A X uiedl | @) Il 66366 2afde o/F
v 2 geee ok || 2ad1Ee 2F

X3 gaa | 9e° Il 21efde 28

X 4 caen UIQE | AaM@e 218

Question ID : 6789131833
Option 11D : 6789137331
Option 2 ID : 6789137330
Option 31D : 6789137332
Option 4 ID : 6789137329
Status : Answered
Chosen Option : 3




Q.6 x ey g 1 e e adis 200 SI96E JRId GEcR A2IGER 45 98° 2 4 Ga19IGE |x — y 2 996 LIS ¢Jm
7  6@eo BEe?

Ans1. 21
2 225
3215
422

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 6789131808
Option 11D : 6789137229
Option 2 ID : 6789137232
Option 31D : 6789137231
Option 4 ID : 6789137230
Status : Answered
Chosen Option : 1

Q6 qidic 8% aam g 21069 F6ed QUIDIRZS GBI T 92429 6 GFi6RI 6667 YRIEF Feadl QAIRIRES! IBIFIE 65667
8

Ans X 1. T 626
X 2 2650
v 3 7600
X 4 7675

Question ID : 6789131812
Option 11D : 6789137248
Option 2 ID : 6789137247
Option 31D : 6789137245
Option 4 ID : 6789137246
Status : Not Attempted and Marked For Review
Chosen Option : --

°<;6 Find the median for the following set of numbers:
15,27 1018131316, 20012 11,15

Ans X116
X218
v 15
X 413
Question ID : 6789131821
Option 11D : 6789137282
Option 2 ID : 6789137284
Option 31D : 6789137283
Option 4 ID : 6789137281
Status : Answered
Chosen Option: 3
Q.7




M N

be 4

L

ans of 1. 30
X2 31
X3 35
X 4 28

The above Venn diagram represent the students who play 3 sports M, N and L in a class.
The total number of students who play at least two games is:

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131851
6789137403
6789137404
6789137402
6789137401
Answered

1

°1'7 If 6x% + 2kx+ k = 0 has no solution, then the value of k will satisfy:

Ans X1 k=6
X2 k<6
X3 k>-6
v+ 0<k<6
Question ID : 6789131823
Option 11D : 6789137292
Option 2 ID : 6789137291
Option 3 ID : 6789137289
Option 4 1D : 6789137290
Status : Answered
Chosen Option : 4
°2'7 Which ex-Prime Minister was awarded Bharat Ratna posthumously?
Ans o 1. Rajiv Gandhi
/< 2 L. K. Gujral
/< 3. Morarji Desai
/< 4 P.V.Narasimha Rao
Question ID : 6789131888
Option 11D : 6789137552
Option 2 ID : 6789137550
Option 31D : 6789137551
Option 4 1D : 6789137549
Status : Not Answered




l Chosen Option

Q.7 The silver coin which was introduced by Sher Shah was continued by the Mughals as .
3

Ans 1. Tanka
+ 2. Rupaya
& 3. Mohur
X 4 Taka
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131895
6789137578
6789137579
6789137580
6789137577
Not Answered

Q.7 Nandan is facing towards the west. He turns 135° in the clockwise direction and then 45° in the anti-clockwise direction.
4 Inwhich direction is he facing now?

Ans X 1. West
X 2. East
X 3. South
« 4 North
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131854
6789137416
6789137415
6789137414
6789137413
Answered

2

Q.7 A right circular cylindrical jar with a radius of 14 cm has some water. If a solid spherical ball of radius 5.6 cm is
5 dropped in the jar and the ball is fully submerged, then calculate the approximate rise in the height of the water level in

the jar.

Ans of 1 12cm
X 211lcm
/3 90cm
X 4 10cm

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

6789131816
6789137264
6789137263
6789137261
6789137262
Not Answered

Q.7 A train can finish its journey in 10 hours at the speed of 48 km/hr. If the same distance has to be covered in 8 hours,
6 what should be the speed of the train?

Ans 1. 55 km/hr
< 2. 50 km/hr




< 3. 45 km/hr

' 4 60 km/hr
Question ID : 6789131813
Option 11D : 6789137251
Option 2 ID : 6789137250
Option 31D : 6789137249
Option 4 ID : 6789137252
Status : Answered
Chosen Option : 4
°7'7 The chemical formula of sodium carbonate is:
Ans f 1. NayCOs
& 2. NaCO,
/< 3. NayCO»
/& 4 NayCO»
Question ID : 6789131868
Option 11D : 6789137472
Option 2 ID : 6789137469
Option 31D : 6789137471
Option 4 ID : 6789137470
Status : Answered
Chosen Option: 1
Qé7 The mass of an object is 20 kg. What would be its weight on the Earth (take g = 10ms™2).
Ans X1 200 W
v 2 200N
X 3. 200 Pa
X 4 200Kg
Question ID : 6789131858
Option 1 ID : 6789137429
Option 2 ID : 6789137431
Option 31D : 6789137432
Option 4 ID : 6789137430
Status : Answered

Chosen Option: 2

9

Ans

X 1. Lakshmi Kant
+ 2. Uttam Singh

/< 3. Bappi Lahiri
/< 4 Nadeem-Shravan

Q.7 Who was honoured with the Lata Mangeshkar Lifetime Achievement Award 2016 by the Maharashtra Government?

Question ID : 6789131885
Option 1 ID : 6789137540
Option 2 ID : 6789137539




Option 31D : 6789137538
Option 4 ID : 6789137537
Status : Not Answered
Chosen Option : --

Q.8 Choose the best suitable Venn diagram for the following words: Science, Physics, Biology
0

T OO0
" O
X2 @
J 3. .
X 4. .
Question ID : 6789131852
Option 1 ID : 6789137407
Option 2 ID : 6789137406
Option 3 ID : 6789137408
Option 4 ID : 6789137405
Status : Answered
Chosen Option : 3
Q.8 o 1~ = 1 =
1 6QlcH] well*alR . QGG PEM, PERUGICH 9] 3 | 856% WEl"GIG EREE7
Ans x ] 11
" 39
7
"
78
: 5
X2
13
, 1
x4l
7

Question ID : 6789131805
Option 11D : 6789137218
Option 2 ID : 6789137219
Option 3 ID : 6789137220
Option 4 ID : 6789137217
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.8




2 Gofiyo Q19 91 Sa XYZ oG @ Q3 2015 6o Ge owg 6962929l e @ @1eRd SRS |

Infrastructure

o @aF XYZ T100 Al 6aIT 66T 8o @Rl 662 65 AFIGIRIF 9001 6DQ 62 66E ATEFIETI Fhcale @BF |

Ans X 15 QfeRIE
v'2 20 Qs eald
X3 2.5 af eqlE
X410 Qdeald

Question ID : 6789131841
Option 11D : 6789137362
Option 2 ID : 6789137364
Option 31D : 6789137361
Option 4 ID : 6789137363
Status : Answered
Chosen Option : 1

Q.8 GofRge §98 @ §98 9e° ead a0 iy 96% 8% 6ed A0 I8 4EYS MIese §98 oY tgaad agf cial
Galag 203 |

[9h: 69 62993 §RTIQ G646 $¢ GRIRERR |

Zalea =k
L gheee 21gd 6 2eae on Sepea ags |

I 699612 GRlanas FrIsa POl AIe Qelm @07 |

X eawraia | G Il eRlaEEE agdd a6a AIF
X 2 99 19e° || § AGUIS Q60
X 3 6099 QULUIA || AQUE Q6

W 1 6R9F RULAIQ | AGUAE FER

Question ID : 6789131832
Option 1 ID : 6789137327
Option 2 ID : 6789137328
Option 31D : 6789137326
Option 4 ID : 6789137325
Status : Answered
Chosen Option : 4

048 Name the person who has been sworn in as the new President of Kenya in 2018.

Ans X 1. Jomo Kenyatta
« 2 Uhuru Muigaui Kenyatta




/< 3. Kikuyu Kenyatta
/< 4 Raila Odinga

Question ID : 6789131892
Option 11D : 6789137565
Option 2 ID : 6789137566
Option 31D : 6789137567
Option 4 ID : 6789137568
Status : Answered
Chosen Option : 1

98 Choose the mirror image for the following figure:
M

— o—(o— & | T

¥ A B C D
Ans me
X2 B
X3 C
viA

Question ID : 6789131855
Option 1 ID : 6789137420
Option 21D : 6789137418
Option 31D : 6789137419
Option 4 ID : 6789137417
Status : Answered
Chosen Option : 4

Q.8 30 men can complete a piece of work in 12 days. How many days will 40 men take to complete the same work?

6

Ans ?(T 6
X< 210
X338
w09

Question ID : 6789131815
Option 11D : 6789137260
Option 2 ID : 6789137259
Option 31D : 6789137258
Option 4 ID : 6789137257
Status : Answered
Chosen Option : 4

Qf In the following chemical reaction. what product is represented by X?
CaC03 - heat— Ca0+ X

Ans 510,

X 2 CO

V3. CO,




X 4 H,0

Question ID : 6789131871
Option 1 ID : 6789137484
Option 2 ID : 6789137481
Option 31D : 6789137482
Option 4 ID : 6789137483
Status : Answered
Chosen Option : 3

058 Meristematic tissue take up a specific role and lose their ability to divide and then form a:

Ans X 1. Sieve tube cell
/< 2. Companion cell

< 3. RBC

+ 4 Permanent tissue

Question ID : 6789131876
Option 11D : 6789137502
Option 2 ID : 6789137503
Option 31D : 6789137501
Option 4 ID : 6789137504
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.8 The sum of the ages of a daughter and mother is 50 years. After 5 years, the age of the mother will be four times that of
9 the daughter. What is the present age of the daughter?

Ans  of 1. 7 years
/5 2. 10 years
/% 3. 12 years
/X 4. 15 years

Question ID : 6789131818
Option 11D : 6789137269
Option 2 ID : 6789137270
Option 31D : 6789137271
Option 4 ID : 6789137272
Status : Answered
Chosen Option : 2

069 2lele 6alIFH g 19° gaf §9@ Gol aind | Sene @ag 699 98 94 0 990 69FI9I6l 62 |

a4
Fopl 0 904 6950 ?

qed:

L &961 S5 99° gell 6298F eIe P90 |

I 69, S99 99° 290 Q 6711861 9B 32 99 19° 29Rl O 944 SRl 19° F0ql 986 dele aldEsR |

Ans X 1. 6ee@ @lIcl | B¢ Il aIg 6aIc O
X 2 9us | 99° 1l 60 29 BIF] 2IRE@ 216s




Vv 3 caoe 2161 1l geald
X 4 Caew GIgl | ge2ia

Question ID : 6789131843
Option 11D : 6789137371
Option 21D : 6789137372
Option 31D : 6789137370
Option 4 ID : 6789137369
Status : Answered
Chosen Option : 1
°1'9 gar et fola a9 986 caal anhe Ok 6990l gola 09 986 AWiae 0et @1eg
QY QIUIeR - U ?
Al —
"X oRel
X 2 g6
- ElEER
W 3 Gl
X 4 Bae-2Id
Question ID : 6789131830
Option 11D : 6789137318
Option 2 ID : 6789137320
Option 31D : 6789137319
Option 4 ID : 6789137317
Status : Answered
Chosen Option: 3
Qé9 BRIER6YER GEISE QU4 699 EOSISIRl | 6I6E aF6a AFIE 9:30 GISSRR! | 6959 dgo Al 6960 7
Ans1.°3 « 30
2.8 1 30
3711 = 30
46 3 30
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6789131849
Option 11D : 6789137395
Option 2 ID : 6789137394
Option 31D : 6789137396
Option 4 ID : 6789137393
Status : Answered

Chosen Option : 1

3 qan ced @9 0FE?

Ans X 1. 10ms?
K2 10ms2
3 5ms
X 4 5ms2

Q.9 eaIfqqIo 6IEN ERER B9 69 15° 0.5 £ASRUER QHER 268 LA Falae g = 10 ms™? | @fiq 24 a541 anae




Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Question ID :

6789131859
16789137435
16789137433

: 6789137436
: 6789137434

Status : Answered
Chosen Option: 3

Q.9 Which of the following is associated with The Government of India’s ‘Khelo India’ programme?
4

Ans X 1. Music
« 2. Sports
/< 3. Literature
/< 4 Science and Technology

Question ID : 6789131883
Option 11D : 6789137530
Option 2 ID : 6789137531
Option 31D : 6789137529
Option 41D : 6789137532
Status : Answered
Chosen Option : 2
Qég Who has received the ‘Naari Shakthi Puraskar’ on the Women’s Day 2018?
Ans % 1. Chaavi Rajawat
/< 2. Sonia Gandhi
+ 3. Malvika Iyer
/< 4 Meena Behen
Question ID : 6789131886
Option 11D : 6789137542
Option 2 ID : 6789137544
Option 3 ID : 6789137543
Option 41D : 6789137541
Status : Answered
Chosen Option : 4
@9 The Dronacharya Award 2017 in the field of kabaddi was presented to:
Ans X 1. Anup P. Kumar
#< 2. Rahul Chaudhari
« 3 Heera Nand Kataria
/< 4 Pradeep Narwal
Question ID : 6789131881
Option 11D : 6789137524
Option 2 ID : 6789137522
Option 3 ID : 6789137521
Option 4 ID : 6789137523
Status : Not Answered




l Chosen Option

Qf ‘Work done on an object does NOT depend upon which of the following?
Ans  of 1. Mass of the object

/< 2. Angle between force and displacement

/< 3. Force applied

/< 4 Displacement

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

Question ID :

6789131860
6789137440
6789137438
6789137439
6789137437
Answered

1

Q.9 If: means ¥, x means +, + means — and — means = , find the value of 28 x 3 +12 4 + 10
8

Ans x 1. 2
X2 4
X35
vl

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

6789131837
6789137347
6789137346
6789137348
6789137345
Not Answered

6789131872
6789137488
6789137487
6789137486
6789137485
Answered

4

e’ does NOT react with Dilute HCL.
Ans X 1. Zinc
/< 2. Aluminium
« 3. Copper
/< 4 Magnesium
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :
%‘J In humans, females have set of sex chromosomes.
Ans of 1. XX

X2 Xy




X3 YY
X 4 YYX

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6789131880
6789137517
6789137519
6789137518
6789137520
Answered

1




